Hanson's CSA

Date	Item		Size	Quantity	Value	Cum			
6/6/2010	Strawberries	PYO	Quart	2	\$6.00	\$12.00			
6/11/2010	Strawberries	PYO	Quart	1	\$6.00	\$6.00			
	Spinach	Bagged	Bunch	1	\$2.00	\$2.00			
	Swiss Chard	Bagged	Bunch	1	\$2.50	\$2.50			
	Dill	Bagged	Bunch	1	\$8.00	\$8.00	4 store bunches	store price	Store Prices:
	Cilantro	Bagged	Bunch	1	\$8.00	\$8.00	4 store bunches	store price	Peas 1.99 lb
	Dandelion	PYO	Bunch	3	\$3.00	\$9.00		store price	Radishes .99 bunch
	Achillea, Snapdragons	PYO	Stems	20	\$0.65	\$13.00			Herbs 1.99 3/4 oz or Basil 2.5 oz Raspberry/Blackberry 2.99 6 oz Kale 89cents LB
6/18/2010	Strawberries	PYO	Quart	1	\$6.00	\$6.00			Swiss Chard 1.99 Bunch
	Snap Peas	PYO	Pint	1	\$1.00	\$1.00		store price	Red/Green Lettuce 2/3\$
	Spinach	Bagged	Bunch	1	\$2.00	\$2.00			
	Swiss Chard	Bagged	Bunch	1	\$2.50	\$2.50			
	Kale	Bagged	Bunch	1	\$2.00	\$2.00			
	Lettuce	Bagged	Bunch	1	\$2.00	\$2.00			
	Collard	Bagged	Bunch	1	\$2.00	\$2.00			
	Rhubarb	Bagged	Bunch	1	\$2.00	\$2.00		store price - gu	ess
	Achillea, Snapdragons	PYO	Stems	10	\$0.65	\$6.50			
6/25/2010	Strawberries	PYO	Quart	1	\$6.00	\$6.00			
	Snap Peas	PYO	Pint	1	\$1.00	\$1.00	Estimate 1/2 lb	store price	
	English Peas	PYO	Pint	1	\$1.00	\$1.00		store price	
	Basil	Bagged	Bunch	1	\$6.00	\$6.00	3 store bunches	store price	
	Swiss Chard	Bagged	Bunch	1	\$2.50	\$2.50			
	Kale	Bagged	Bunch	1	\$2.00	\$2.00			
	Lettuce	Bagged	Bunch	1	\$2.00	\$2.00			Broccoli \$2.98/lb
	Collard	Bagged	Bunch	1	\$2.00	\$2.00			Basil \$2.00 Bunch
	Radishes	Bagged	Bunch	1	\$2.00	\$2.00			Scallions \$2.00 bunch
	Snapdragons	PYO	Stems	20	\$0.65	\$13.00			Raspberries \$4.98/lb Parsley \$1.50 bunch Blueberries \$4.50/pint
7/2/2010	Raspberries	PYO	Pint	3	\$3.00	\$9.00	1 pint 3 store 6oz	store price	
	Snap Peas	PYO	Pint	1	\$1.00	\$1.00		store price	
	Garlic Rabe	Bagged	Stems	3	\$0.50	\$1.50			
	Broccoli	Bagged	Pound	1	\$1.50	\$1.50	Estimate 1/2 Pound		Farmers Market:

	Lettuce Collard Radishes Beets Kale Snapdragons Pea Tendrils	Bagged Bagged Bagged Bagged Bagged PYO	Bunch Bunch Bunch Bunch Stems Stems	1 1 1 1 1 10 5		\$2.00 \$2.00 \$2.00 \$2.50 \$2.00 \$0.65 \$0.65	\$2.00 \$2.00 \$2.00 \$2.50 \$2.00 \$6.50 \$3.25			Ear Corn 70c per ear Red Lettuce \$2.00 Bunch Flowers 10 pc \$6.50 Peas - Shell \$4/lb Peas - Snap 46/lb Pea Tendrils \$4 bunch Yu Choy \$2.50 bunch Bok Choy \$2.50 bunch
7/2/2010	Raspberries	PYO	Pint	3		\$3.00	\$9.00	1 pint 3 sto	ore 6oz	
	Garlic Rabe	PYO	Stems	3		\$0.50	\$1.50			
	Zucchini Squash - Kousa Squash - Patty Pan Collard	Bagged Bagged Bagged Bagged	Pound Pound Pound Bunch	1 1 1	0.75 1 0.75	\$2.50 \$2.50 \$2.50 \$2.00	\$1.88 \$2.50 \$1.88 \$2.00	12 oz 1 lb guess 12oz guess	S	Squash - Kousa - \$2.50/lb Squash - Patty Pan - \$2.50/lb
	Radishes Choice Beans	Bagged Bagged	Bunch Bag	1 1	0.5	\$2.00 \$2.00	\$2.00 \$1.00	8oz guess		Choice Beans \$2/lb
	Kale	Bagged	Bunch	1	0.5	\$2.00	\$2.00	ouz guess		Choice Beans \$2/10
	Ruic	Баббеа	Bullett	-		72.00	ÿ2.00			
7/19/2010	Cherry Tomatoes	PYO	Pint	1		\$3.50	\$3.50			
	Corn		Ear	6		\$0.60	\$3.60			
	Eggplant - Thin	Bagged	Pound	7	2.4375	\$3.00	\$7.31	2 - 7oz		
	Zucchini	Bagged	Pound	1	3	\$2.50	\$7.50	3lb		
	Scallions	Bagged	Bunch	1		\$2.50	\$2.50			Scallions \$2.50/bunch
	Squash - Patty Pan	Bagged	Pound	3	2	\$2.50	\$5.00	2lb		
	Cukes	Bagged	Each	2		\$0.89	\$1.78			
	Red potatoes	Bagged	Pound	8	2	\$1.50	\$3.00	2lb guess		
	Green Peppers	Bagged	Pound	3	0.5	\$1.98	\$0.99	8oz		Think one was purple.
	Kale	Bagged	Bunch	1		\$2.00	\$2.00			
	Parsley	Bagged	Bunch	1		\$1.50	\$1.50			
	Sunflowers	PYO	Stems	22		\$1.50	\$33.00			
7/27/2010	Cherry Tomatoes	PYO	Pint	1		\$3.50	\$3.50			Cherry Tomatoes - \$3.50/pt
	Tomatoes	Bagged	Pound	5	2.875	\$3.50	\$10.06	2 - 14oz		Tomatoes \$3.50/lb
	Corn	Bagged	Ear	6		\$0.60	\$3.60			Corn \$.60/ear
	Eggplant - Big	Bagged	Pound	2	2.125	\$3.00	\$6.38	2 - 2oz	or 5 small	Eggplant \$3.00/lb
	Zucchini	Bagged	Pound	3	1.5625	\$2.50	\$3.91	1 - 9oz		Zucchini \$2.50 lb
	Squash - Patty Pan	Bagged	Pound	3	3.3125	\$2.50	\$8.28	3 - 5oz		Patty Pan \$2.50/lb
	Squash - Kousa	Bagged	Pound	2	3.0625	\$2.50	\$7.66	3 - 1oz		Kousa \$2.50/lb
	Squash - Summer Squash	Bagged	Pound	2	0.4375	\$2.50	\$1.09	7oz		Summer Squash \$2.50/lb

	Cukes Red potatoes Green Peppers Kale Basil Cilantro	Bagged Bucket Bagged Bagged Bagged Bagged	Each Pound Pound Bunch Bunch Bunch	2 2 1 1	2 0.375	\$0.89 \$1.50 \$1.98 \$2.00 \$2.00 \$1.50	\$1.78 \$3.00 \$0.74 \$2.00 \$2.00 \$1.50	2lb 6oz	Cukes \$.89 per or Pickling 3 for \$1. Red Potates \$1.50/lb Peppers \$1.98/lb Kale \$2.00/bunch Basil \$2.00/bunch Cilantro \$1.50/bunch
	Sunflowers	PYO	Stems	5		\$1.50	\$7.50		Bunches of Flowers \$6 - \$8
	Zinnia and XX	PYO	Stems	17		\$0.65	\$11.05		
7/30/2010	Cherry Tomatoes	PYO	Pint	1		\$3.50	\$3.50		
	Tomatoes	Bagged	Pound	3	1.1875	\$3.50	\$4.16	1lb 3oz	
	Corn	Bagged	Ear	6		\$0.60	\$3.60		
	Eggplant - Oriental	Bagged	Pound	5	2.375	\$3.00	\$7.13	2lb 6oz	
	Zucchini	Bagged	Pound	4	4.75	\$2.50	\$11.88	4 - 12oz	
	Squash - Patty Pan	Bagged	Pound	4	3.3125	\$2.50	\$8.28	3 - 5oz	
	Squash - Kousa	Bagged	Pound	2	2.9375	\$2.50	\$7.34	2 - 15oz	
	Squash - Summer Squash	Bagged	Pound	2	0.625	\$2.50	\$1.56	10oz	
	Red potatoes	Bucket	Pound	1	2.375	\$1.50	\$3.56	2 - 6oz	
	Kale	Bagged	Bunch	1		\$2.00	\$2.00		
	Basil	Bagged	Bunch	1		\$2.00	\$2.00		
	Cilantro	Bagged	Bunch	1		\$1.50	\$1.50		
	Sunflowers	PYO	Stems	5		\$1.50	\$7.50		
	Zinnia and XX	PYO	Stems	11		\$0.65	\$7.15		
8/6/2010	Cherry Tomatoes	PYO	Pint	1		\$3.50	\$3.50		
	Tomatoes	Bagged	Pound	8	1.5625	\$3.50	\$5.47	1lb 9oz	
	Corn	Bagged	Ear	6		\$0.60	\$3.60		
	Eggplant - Large	Bagged	Pound	2	3.1875	\$3.00	\$9.56	3lb 3oz	
	Zucchini	Bagged	Pound	5	1.5	\$2.50	\$3.75	1 - 8oz	
	Zucchini - Yellow	Bagged	Pound	4	0.3125	\$2.50	\$0.78	0 - 5oz	Assumed same price as green? Yes \$2.50/lb
	Squash - Patty Pan	Bagged	Pound	3	1.25	\$2.50	\$3.13	1 - 4oz	
	Squash - Kousa	Bagged	Pound	1	0.6875	\$2.50	\$1.72	0 - 11oz	
	Squash - Summer Squash	Bagged	Pound	4	0.8125	\$2.50	\$2.03	13oz	
	Brown potatoes - Yukon Gold	Bucket	Pound	1	3.25	\$1.50	\$4.88	3 - 4oz	Assumed same price as red? Yes Yukon Gold \$1.50/I
	Brazilian Eggplant?	Bagged	Pound	3	0.375	\$3.99	\$1.50	0 - 6oz	\$3.99/lb
	Kale	Bagged	Bunch	1		\$2.00	\$2.00		
	Peppers - Green	Bagged	Pound	3	0.875	\$1.98	\$1.73	0 - 14oz	
	Peppers - Italian Roasting	Bagged	Pound	1	0.1875	\$1.98	\$0.37	0 - 3oz	Price
	Cilantro	Bagged	Bunch	1		\$1.50	\$1.50		

	Zinnia and XX	PYO	Stems	21		\$0.65	\$13.65		
8/13/2010	Cherry Tomatoes	PYO	Quart	1		\$7.00	\$7.00		
	Dandelion	PYO	Bunch	1		\$3.00	\$3.00		store price
	Tomatoes	Bagged	Pound	5	2	\$3.50	\$7.00	2lb	
	Corn	Bagged	Ear	6		\$0.60	\$3.60		
	Eggplant - Large/Italian	Bagged	Pound	2	4.3125	\$3.00	\$12.94	4lb 5oz	
	Zucchini	Bagged	Pound	2	1.8125	\$2.50	\$4.53	1 - 13oz	
	Squash - Patty Pan	Bagged	Pound	3	1.75	\$2.50	\$4.38	1 - 12oz	
	Squash - Kousa	Bagged	Pound	1	2.4375	\$2.50	\$6.09	2 - 7oz	
	Squash - Summer Squash	Bagged	Pound	4	0.875	\$2.50	\$2.19	14oz	
	Red potatoes	Bucket	Pound	1	2.25	\$1.50	\$3.38	2 - 4oz	
	Kale	Bagged	Bunch	1		\$2.00	\$2.00		
	Peppers - Green	Bagged	Pound	2	0.625	\$1.98	\$1.24	0 - 10oz	
	Losts of Hot Peppers	Bagged	Bunch	29		\$0.25	\$7.25		\$.25 each
	Assorted Flowers	PYO	Stems	16		\$0.65	\$10.40		
8/20/2010 WK 11	Cherry Tomatoes	PYO	Pint	1		\$3.50	\$3.50		
	Tomatoes	Bagged	Pound	6	3.25	\$3.50	\$11.38	3 - 4oz	
	Corn	Bagged	Ear	6		\$0.60	\$3.60		
	Eggplant - Large/Italian	Bagged	Pound	2	3.0625	\$3.00	\$9.19	3lb 1oz	
	Jilo - Brazilian Eggplant	Bagged	Pound	5	0.75	\$3.99	\$2.99	12oz	
	Zucchini	Bagged	Pound	3	1.6875	\$2.50	\$4.22	1 - 11oz	
	Red potatoes	Bucket	Pound	1	2.4375	\$1.50	\$3.66	2 - 7oz	
	Kale	Bagged	Bunch	1		\$2.00	\$2.00		
	Boston Lettuce	Bagged	Bunch	1		\$2.00	\$2.00		
	Basil - Purple	Bagged	Bunch	1		\$2.00	\$2.00		
	Peppers - Green	Bagged	Pound	2	0.75	\$1.98	\$1.49	0 - 12oz	
	Peppers - Purple	Bagged	Pound	1	0.125	\$2.50	\$0.31	2oz	
	Peppers - Italian Roasting	Bagged	Pound	6	1.125	\$1.98	\$2.23	1 - 2oz	Guess - forgot to weigh
	Losts of Hot Peppers	Bagged	Bunch	30		\$0.25	\$7.50		
8/27/2010	Cherry Tomatoes	PYO	Pint	1		\$3.50	\$3.50		
WK 12	Raspberries	PYO	Pint	1		\$3.00	\$3.00	1 pint 3 store 6oz	
	Tomatoes	Bagged	Pound	10	5.5625	\$3.50	\$19.47	5 - 9oz	
	Corn	Bagged	Ear	6		\$0.60	\$3.60		
	Eggplant - Large/Italian	Bagged	Pound	1	1.875	\$3.00	\$5.63	1lb 14oz	
	Eggplant - Oriental	Bagged	Pound	1	0.4375	\$3.00	\$1.31	7oz	
	Red potatoes	Bucket	Pound	1	2.3125	\$1.50	\$3.47	2 - 5oz	

	Kale	Bagged	Bunch		1		\$2.00	\$2.00		
	Boston Lettuce	Bagged	Bunch		1		\$2.00	\$2.00		
	Basil - Sweet	Bagged	Bunch		1		\$2.00	\$2.00		
	Peppers - Green	Bagged	Pound		2	0.75	\$1.98	\$1.49	0 - 12oz	
	Peppers - Italian Roasting	Bagged	Pound		1	0.1875	\$1.98	\$0.37	0 - 3oz	
	Losts of Hot Peppers	Bagged	Bunch		67		\$0.25	\$16.75	Scott Likes Hot Pe	ppers - So Bonus!
	Not positive that details for	next 3 we	eks are in	the rig	nt place	es - but I go	ot behind	and it is as	good as it can be.	
9/3/2010	Cherry Tomatoes	PYO	Pint	J	. 1	J	\$3.50	\$3.50		
WK 13	Watermelon	Bagged	Pound		1	5.3125	\$1.00	\$5.31	5 - 5 1/8oz	Watermelon \$1/lb
	Tomatoes	Bagged	Pound		11	4.25	\$3.50	\$14.88	3 - 4oz	
	Corn	Bagged	Ear		6		\$0.60	\$3.60		
	Eggplant - Large/Italian	Bagged	Pound		1	2.8125	\$3.00	\$8.44	2lb 12 3/4oz	
	Eggplant - Oriental	Bagged	Pound		2	0.5	\$3.00	\$1.50	0 - 8 3/8oz	
	Red Cabbage	Bagged	Pound		1	1.625	\$0.89	\$1.45	1 - 9 5/8oz	Red Cabage \$.89/lb
	Radishes	Bagged	Bunch		1		\$2.00	\$2.00		
	Kale	Bagged	Bunch		1		\$2.00	\$2.00		
	Basil - Sweet	Bagged	Bunch		1		\$2.00	\$2.00		
	Peppers - Green	Bagged	Pound		2	0.75	\$1.98	\$1.49	0 - 11 3/4oz	
	Peppers - Italian Roasting	Bagged	Pound		1	0.09375	\$1.98	\$0.19	0 - 1 3/8oz	
	Losts of Hot Peppers	Bagged	Bunch		50		\$0.25	\$12.50	Scott Likes Hot Pe	ppers - So Bonus!
9/10/2010	Pickling Cukes	Bagged	Pound		1	0.5625	\$1.50	\$0.84	0 - 8 3/4oz	Pickling Cukes \$1.50/lb
WK 14	Tomatoes	Bagged	Pound	?		3.1875	\$3.50	\$11.16	3 - 2 1/2oz	Number?
	Corn	Bagged	Ear		6		\$0.60	\$3.60	•	
	Eggplant - Large/Italian	Bagged	Pound		1	2.25	\$3.00	\$6.75	2lb 4 3/8 oz	
	Squash - Spagetti	Bagged	Pound		1	5.5625	\$0.98	\$5.45	5 - 9 1/4oz	
	Squash - Zucchini	Bagged	Pound		1	1.125	\$2.50	\$2.81	1 - 2 3/8oz	
	Squash - Kousa/Summer?	Bagged	Pound		1	1.8125	\$2.50	\$4.53	1 - 13oz	
	Radishes	Bagged	Bunch		1		\$2.00	\$2.00		
	Kale	Bagged	Bunch		1		\$2.00	\$2.00		
	Basil - Sweet	Bagged	Bunch		1		\$2.00	\$2.00		
	Peppers - Green	Bagged	Pound		2	0.5625	\$1.98	\$1.11	0 - 8 7/8oz	
	Peppers - Dove	Bagged	Pound		1	0.125	\$1.98	\$0.25	0 - 1 3/4oz	
	Yukon Potatoes	Bucket	Pound		1	5.875	\$1.50	\$8.81	5 - 7/8oz	
	Losts of Hot Peppers	Bagged	Bunch		0		\$0.25	\$0.00	No Hot Peppers th	nis week???
9/17/2010	Tomatoes	Bagged	Pound		3	1.625	\$3.50	\$5.69	1 - 9 1/2oz	
WK 15	Corn	Bagged	Ear		6		\$0.60	\$3.60		
	Eggplant - Large/Italian	Bagged	Pound		1	1.8125	\$3.00	\$5.44	1lb 13 3/8oz	
	Squash - Butternut	Bagged	Pound		1	2.9375	\$0.98	\$2.88	2 - 14 5/8oz	
	Squash - Zucchini	Bagged	Pound		1	0.3125	\$2.50	\$0.78	0 - 4 1/2oz	

	Kale	Bagged	Bunch	1		\$2.00	\$2.00			
	Basil - Sweet	Bagged	Bunch	1		\$2.00	\$2.00			
	Peppers - Green/Dove	Bagged	Pound	1	0.3125	\$1.98	\$0.62	0 - 5 1/4oz		
	Red Potatoes	Bucket	Pound	1	3.8125	\$1.50	\$5.72	3 - 13oz		
	Losts of Hot Peppers	Bagged	Bunch	112		\$0.25	\$28.00	Scott Likes Hot Peppers	- So Bonus!	
9/24/2010	Cherry Tomatoes	PYO	Pint	1		\$3.50	\$3.50			
WK 16	Raspberries	PYO	Pint	1		\$3.00	\$3.00	1 pint 3 store 6oz	store price	
	Tomatoes	Bagged	Pound	5	1.5625	\$3.50	\$5.47	1 - 8 5/8oz		
	Corn	Bagged	Ear	6		\$0.60	\$3.60			
	Eggplant - Large/Italian	Bagged	Pound	1	2.0625	\$3.00	\$6.19	2lb 1 1/8oz		
	Squash - Acorn	Bagged	Pound	1	2.4375	\$0.98	\$2.39	2 - 7 1/4oz		
	Ground Cherries	Bagged	Pint	1	0.5	\$2.50	\$1.25	1/2 Pt		
	Carrots	Bagged	Bunch	1		\$2.00	\$2.00			
	Kale	Bagged	Bunch	1		\$2.00	\$2.00			
	Choice/Assorted Beans - Purple	Bagged	Bag	1	0.6875	\$1.50	\$1.03	0 - 11 1/4oz		Choice Beans \$1.50/lb
	Peppers - Green	Bagged	Pound	1	0.1875	\$1.98	\$0.37	0 - 3 3/8oz		
	Peppers - Dove	Bagged	Pound	1	0.0625	\$1.98	\$0.12	0 - 1 1/4oz		
	Peppers - Assorted	Bagged	Pound	1	0.3125	\$1.98	\$0.62	0 - 5 1/4oz		
	Peppers - Italian Roasting	Bagged	Pound	1	0.25	\$1.98	\$0.50	0 - 3 7/8oz		
	Black? Potatoes	Bucket	Pound	1	3.0625	\$1.50	\$4.59	3 - 1 3/8oz		
	Losts of Hot Peppers	Bagged	Bunch	115		\$0.25	\$28.75	Scott Likes Hot Peppers	- So Bonus!	
10/1/2010	Cherry Tomatoes	PYO	Pint	1		\$3.50	\$3.50			
WK 17	Raspberries	PYO	Pint	1		\$3.00	\$3.00	1 pint 3 store 6oz	store price	
	Corn	Bagged	Ear	6		\$0.60	\$3.60			
	Squash - Acorn	Bagged	Pound	1	3.125	\$0.98	\$3.06	3 - 2 1/4oz		
	Squash - Spagetti	Bagged	Pound	1	4.5	\$0.98	\$4.41	4 - 8 1/4oz		
	Carrots	Bagged	Bunch	1		\$2.00	\$2.00			
	Kale	Bagged	Bunch	1		\$2.00	\$2.00			
	Choice/Assorted Beans - Italian	Bagged	Bag	1	0.6875	\$1.50	\$1.03	0 - 11 3/8oz		
	Peppers - Green	Bagged	Pound	1	0.125	\$1.98	\$0.25	0 - 2 3/8oz		
	Peppers - Dove	Bagged	Pound	1	0.0625	\$1.98	\$0.12	0 - 1 1/4oz		
	Peppers - Purple	Bagged	Pound	1	0.25	\$1.98	\$0.50	0 - 3 1/2oz		
	Red Potatoes	Bucket	Pound	1	3.625	\$1.50	\$5.44	3 - 9 7/8oz		
	Losts of Hot Peppers	Bagged	Bunch	120		\$0.25	\$30.00	Scott Likes Hot Peppers	- So Bonus!	
	Assorted Flowers	PYO	Stems	7		\$0.65	\$4.55			
		_				4	4			
	Squash - Acorn	Bagged	Pound	1	2.4375	\$0.98	\$2.39	2 - 6 3/4oz		
WK 18	Carrots	Bagged	Bunch	1		\$2.00	\$2.00			
	Radishes	Bagged	Bunch	1		\$2.00	\$2.00			
	Kale	Bagged	Bunch	1		\$2.00	\$2.00			

	Collard	Bagged	Bunch	1		\$2.00	\$2.00		
	Brussel Sprouts	Bagged	Bag	1		\$3.50	\$3.50	0 - 10 5/8oz	3.50 pint
	Basil - Sweet	Bagged	Bunch	1		\$2.00	\$2.00	0 10 3/002	3.30 pint
	Parsley	Bagged	Bunch	1		\$1.50	\$1.50		
	Brown Potatoes	Bucket	Pound	1	3.4375	\$1.50	\$1.30 \$5.16	3 - 6 3/4oz	
					3.4373			·	nama Ca Damusi
	Losts of Hot Peppers	Bagged	Bunch	151		\$0.25	\$37.75	Scott Likes Hot Pep	pers - So Bonus!
10/15/2010	Squash - Acorn	Bagged	Pound	1	2.1875	\$0.98	\$2.14	2 - 3 1/8oz	
WK 19	Carrots	Bagged	Bunch	1		\$2.00	\$2.00		
	Radishes	Bagged	Bunch	1		\$2.00	\$2.00		
	Kale	Bagged	Bunch	1		\$2.00	\$2.00		
	Tomatoes - Green	Bagged	Pound	5	2.375	\$3.00	\$7.13	2 - 6 1/2oz	
	Peppers - Green	Bagged	Pound	2	0.75	\$1.98	\$1.49	0 - 11 5/8oz	
	Losts of Hot Peppers	Bagged	Bunch	151		\$0.25	\$37.75	Scott Likes Hot Pep	pers - So Bonus!
10/22/2010	Causala Assura	Dannad	David	4	2 4075	¢0.00	ć2.44	2 2	
	Squash - Acorn	Bagged	Pound	1	2.1875	\$0.98	\$2.14	2 - 3 oz	
WK 20	Sugar Pumpkin			1	2.46875	\$0.79	\$1.95	2 - 7 1/2 oz	
	Indian Corn	Bagged	Bunch	1		\$3.98	\$3.98	Of Three	
	Brussel Sprouts	Bagged	Bag	1		\$3.50	\$3.50	0 - 7 5/8oz	3.50 pint
	Carrots	Bagged	Bunch	1		\$2.00	\$2.00		
	Radishes	Bagged	Bunch	1		\$2.00	\$2.00	0 - 7 3/4 oz	
	Kale	Bagged	Bunch	1		\$2.00	\$2.00		
	Collard	Bagged	Bunch	1		\$2.00	\$2.00		
	Tomatoes - Green	Bagged	Pound	6	1.5	\$3.00	\$4.50	1 - 8 oz	
	Peppers - Green	Bagged	Pound	2	0.375	\$1.98	\$0.74	0 - 6 1/8oz	
	Brown Potatoes	Bucket	Pound	1	1.5625	\$1.50	\$2.34	1 - 9 oz	
	Losts of Hot Peppers	Bagged	Bunch	91		\$0.25	\$22.75	Scott Likes Hot Pep	pers - So Bonus!
10/29/2010	Gord - Pokemon	Bagged	Pound	1	1	\$0.98	\$0.98	1 - 1/4 oz	Check Price
WK 21	Squash - Delicata	00		1	1	\$0.98	\$0.98	0 - 15 3/4 oz	Check Price
	Carrots	Bagged	Bunch	1		\$2.00	\$2.00		
	Kale	Bagged	Bunch	1		\$2.00	\$2.00		
	Tomatoes - Green	Bagged	Pound	12	1.8125	\$3.00	\$5.44	1 - 13 oz	
	Peppers - Green, Purple	Bagged	Pound	2	0.5	\$1.98	\$0.99	0 - 8 1/4oz	
	Peppers - Yellow	Bagged	Pound	1	0.375	\$3.50	\$1.31	0 - 5 3/4	
	Losts of Hot Peppers	Bagged	Bunch	1	0.575	\$0.25	\$0.00	Scott Likes Hot Pep	ners - So Bonusl
	Losts of flot reppers	Daggeu	Bulleti			JU.23	\$0.00	Scott Likes Hot Fep	pers - 30 bonus:
Never	Open to Pick Up	PYO	Stems	20		\$0.65	\$13.00	29-Oct	
Picked but	Open to Pick Up	PYO	Stems	20		\$0.65	\$13.00	22-Oct	
Could Have	Open to Pick Up	PYO	Stems	20		\$0.65	\$13.00	15-Oct	
	Open to Pick Up	PYO	Stems	20		\$0.65	\$13.00	8-Oct	
	Open to Pick Up	PYO	Stems	13		\$0.65	\$8.45	1-Oct	
	Open to Pick Up	PYO	Stems	20		\$0.65	\$13.00		

Open to Pick Up	PYO	Stems	20	\$0.65	\$13.00
Open to Pick Up	PYO	Stems	20	\$0.65	\$13.00
Open to Pick Up	PYO	Stems	20	\$0.65	\$13.00
Open to Pick Up	PYO	Stems	20	\$0.65	\$13.00
Open to Pick Up	PYO	Stems	20	\$0.65	\$13.00
Open to Pick Up	PYO	Stems	18	\$0.65	\$11.70
Open to Pick Up	PYO	Stems	20	\$0.65	\$13.00

CSA Flowers \$1,291.95 \$550.00 \$100.00